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3 3n
1) 1l 14—
<>n1520(+n)
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(3) Jim zsin —

tan® z — sin®

(4) lim

z—0 ;U5

2. 00 fl)=(zx—1)+|z—12000000000000000000

(1) 00000y =g 00002z=¢0000000000000000000
y=f(z)02=10000000000

(2) D0O0D0O0Oy=y¢y(x)0000x=e00000000000O0O0COOO0O0OODOO
Oy=f(x)0J2x=100000000000000



3. gbbbooombuoooon

(1) 0000000000000 0y=cosz0000OODOODO

(2) 0000 y=e" 00000 y=1logz 000000000000 (logz) =
000000000000000 (e°) =e* 0000
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(4) 000 [-1,0000000000 f(z)=1+cos(xz?) 00000 f~(z) DO0DOD
00 f(z) 00000000000

(5) OO f(r)=1log(22+1)000040000000000000000000n0O
0o0O0 fM(z)00000000



4. OJUoOobObObOOoOooobbmoboboobod
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(1) f(z) = tan™ i

(2) flz)=a"""

5. 00 f(r)=sinz000000000COCO0O0OOODOOCODOO

(1) 1000000000000 D0000D0O0000O0RO00OOO f(”)(a:)DDDDDD

(2) n=2m000n=2m+10000 f™O) 00000000 Mm=0,1,2,..., 0
ooo

(3) 0000000000 D000000000 2n+100000000000000
00 Rominy 0000
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00 f(z)=2e* 00000000000000

(1) 10000 f(z)0DD000f (2)=0000 00000000

(2) 20000 f'(x)0000f (z)=00002000000000

(3) 00 f(»)DOOODODOOODODUOODOUODOOODODOOODODODODODOOMOOO

(4) lm f(z)0000 lim f(z) 0000MOO0O

T——00 r—00

5) y=f(x) 0000000000 ODOOO




